xX(s5) = 2JB(s) smy(s) +¢,)

Where J and ¢ are given by the starting conditions x, and x’ ..

1 + 2000+ B’ = 2J
Leads to the invariant of motion:

F(6,x",8) =y(s)x> +2a(s)xx'+ B(s)x” = € f

It is called the Courant-Snyder invariant.
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‘;,0 Twiss Parameters, e.g. drift

_l+a
T
p'=-2a
a'=kp-y

l+iB" _dp'dp

e T
p' _4P
1+18" P=2
log(1+4B")=1log(B/B,)
=2B/ B, -1
B _
2B 1B, -1 ’

BB B,~1=s5-5,
/3(S)=/50(1+(S;j° )2)
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Twiss Parameters in a Drift

B —ay (1 s\ By =\l 0\ (B -2as+7,s" y,s-a,
A 0 I)\-a, v, Ns 1 VoS —Q Yo
18

/3=/3§[1+(ﬁi5)2] for a,=0

x' “x'
X = Ww X
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